Edmund Optics Inc. USA | Asia | Europe

—_—

Y1/} AIAHISIH SIHOIY TV "ONI ‘SOILdO ANNINGT 102 LHOIHAJOO ®

5§ Edmund

optics | worldwide SINGAPORE: +65-6273-6644  CHINA:  +86-0755-2967-5435
KOREA: +82-2-365-9222  TAIWAN: +886-4-22936309

www.edmundoptics.co.kr/cage-system



Edmund Optics Inc. USA | Asia | Europe

TECHSPEC® CAGE SYSTEM £7li5}7|

Prototype H|Zto]| Zigt

ABMOIMS) 22 ARBol Hatet

=2 L7y
RIBHEIX| Bb= =2

ot= AI2X} Holet 8=
st71
: ) 7|2 #EE =512 optic st Z20lM 30°, 60°FEE= 90°2 PlatesE XlZto 2 EAISHT cage T
Mirrors, beamsplitters 2| mountsZ X|X|SH= Ol AF2 JHz A QIEE Moz AIR XE DS o AL
fiters= 1T B2 ZH=F 2 Wi

. 2 A0|=2] bolt circleO|

: Xl-il'

Any B0, 00°2 Bet Z= Tl B P& spheres e 99° Syeiom pies mounisOl 21
QU0 A optical cage system LHoi| FAE2 32|7 beamsplitters angle bracketsofl £t 12|11 ‘=o (214-220%) B= Cage p|ates
sl B=a} &t gre = filtersS RHESH= O] AL optics mountsE X|X[5H= O] AL == = o

ol =8 7ts



Edmund Optics Inc. USA | Asia |

CAGE SYSTEM
=2|70] ollx|

Europe

Interchangeable Optic Mount

AR2E 2E Stock No.

>
Interchangeable Optic Mount #85-717 1
Side Access Mounting Blade #85-641 1
Cube MA|517|
Parts Used Stock No. Quantity
Standard Mounting Plates #85-632 6
Angle Brackets #85-664 8
Angle Adjustment with Swivel Plates
Parts Used Stock No. Quantity
Swivel Adapters #85-670 4
Standard Mounting Plates #85-632 4
Post Mount Adapters #85-692 2
Angle Brackets #85-664 2

Swivel adapters= ¥&d ZE ZX|IME XIE0| ARZELICH

3D MODELS INSTRUCTIONAL VIDEOS APPLICATION EXAMPLES




Edmund Optics Inc. USA | Asia | Europe

TECHSPEC® CAGE SYSTEM MOUNTING PLATES

7|12%Ql Cage 7% MIS

Anodized Aluminum Plates

38mm Bolt Circle0f| Rods &t
TECHSPEC® Cage System Plates= TECHSPEC® Cage System2| 47| & Z240i QA iR &2
ot EZIL|Ct Cage system tubes % opticsE IEsH7| et T = anodized aluminium plates=
120° 2 2IX|I8t 37H2] M3 set screws2t &7 25mm E= 30mm WE X1AS EZICZ §iL|Ct Rodse=
38mm bolt circle 2tofl Z=EE|0] RJSLICE

BASIC MOUNTING PLATE STANDARD MOUNTING PLATES 2" SQUARE INTERFACE PLATE

o ZEASIE| Plate CIXIQIC 2 Z+5tn} Z45t0] 20|&, * 7|2%{91 Cage - EE 2|8t Anodized Aluminum * 7|2%{Q1Cage =& 2|8t Anodized Aluminum
10mm SH| Plates, 10mm SH| Plates, 10mm FH|

* Rodsi= 38mm Bold Circleoi] * Rods= 38mm Bold Circleoi] ZH&} * 38mmet 57mm bolt circle Alo|2] £t

* 3712] M3 set screwsZ plate Li50f| Zst 1 H « 3712] M3 set screwsZ plate Li5L0]| 28t o1& * Cage sphere2| 43mm Portofl HZ
o Ek=} 2 =}

>

BASIC MOUNTING PLATE STANDARD MOUNTING PLATES 2” SQUARE INTERFACE PLATE
A

Stock No. A B Stock No. Feature Purpose

] A: 38mm  Maiches rod spacing of standard mounting
Sl SR 25mm " #5652 bolt circle plates

p
] Allows optics or mounts with larger
30mm #88-197 30mm W6 #5630 B: 57mm  diameters

25mm #85-633 bolt circle to be mounted in system. Connecis to same
rod spacing as 2 square plates

30mm #85-631 C: 48mm  Used to attach Inferface P'i)ute to the 43mm

bolt circle port of Cage Sphere #85-624
C-Mount (1” x 32TPI) #87-419 Stock No. #85.737

Basic Mounting plate Standard Cage Plate Square Interface Plate

- 30

M3x 0.5 Thru (x3) . "\W\ C: Chore for M3 SHCS

06 Thru for Rods (x4) B: 86 Thru for (x2) on 048 Bolt Circle

on 038 Bolt Girdle: S Rods (x4) on
057 Bolt Circle A: 86 Thru for

Rods (x4) on 838

i Bolt Girdle

9.8(x2)
f

A: Chore for M3
O 2, SHES (xB)
M3x 0.5 Thry (x4) - on 938

Bolt Circle

Units: mm nits: mm Units: mm

4-ROD INSERTION PLATE 2” SQUARE MOUNTING PLATES 6MM CAGE SUPPORT RODS
o sHxIE = gl0] 7I=E Cage Systemoi| e I {2 57mm Bolt Circle2 {3 * M3 tapped BEtt= 1 E2|4E 440
Fsts g £t Alo|=9| &t £ Stainless Steel Rods

6MM CAGE SUPPORT RODS

ol platee] AtSH Image Dia. (mm) Lengi?o(mm) Stock No.

6 #85-484
of 2k S

HAOI=0lN &l 0 el B

SHIAIR 6 50 #85-486

[} 75 #85-487

6 100 #85-488

6 120 #85-489

S
. : Inner Diameter Stock No. ]

Outer Dia. Inner Dia. Stock No. igmm %g;gg : ggg igg :3;
mm - g

50mm 25mm #85-643 45mm 485740 6 450 #85-493

' Integration Tip: FC &= SMA Fibers2} Z#t0] =5 C-Mount Standard Cage Plate0il= (#87-419) C-Mount Fiber Adapters (218%) Al2



Edmund Optics Inc. USA | Asia | Europe

TECHSPEC® Cage System Angular Adjustment &2 TECHSPEC® Cage SystemQ| &st A=

o1 O
Ch. Cage spherese= O &8t £F0| AEo2 90° 2z ZHO| 7hsota OJALE &8t 2 Xt
_g_%P A Ol

st 4 QI&LICE Angle plates= standard cage plates@t Ao 2 AFE3H 30, 60 E= 90°
ot OtL|2} Angle plates= angle bracketszt &4 AF23H platesE 222 A

=/ —

joints & A< Zt= =M platesE &4 0|23HH 180° ¢4 2t =HS 5

=
o= 5 == T

zd
=

CAGE SPHERES ANGLE PLATES SWIVEL JOINTS

- st AR0j|M 90°9] 2tz E2H 2 o 23 A20||M 30°, 60° = 90°2] 2 2H +8 +180° g% 2= = £t
* 43mm PortE E {3t Sphere:= [E Zstn} ZEH * Standard Cage Plates?} %22 AL - Qx| ™ ks
* Cover Disks= DIAMR &} HE xjch * Angle Brackets A2 A| PlatesE ZZlo=2 o1F

BUILDING A SWIVEL JOINT ASSEMBLY

Description Outer Dia. ~ Stock No. Stock No. Qty Needed Description Stock No.
30mm ports (x5), 508 #85.624 4 Swivel Adapter #85-670
43mm port (x1) M6 Post Adapter #35-692
30mm ports (x6) 508 #85-625 #85-617

-0 Post Adapter #85-701
43mm port cover disk 50.8 #85-626 P Angle Bracket #85-664
30mm port cover disk #85-627 i

Standard Cage Plates
Angle Plates

038 gsp M3x05Thru(x3)
Bolt Cirdle Chore for M3 SHCS (x12)

Swivel joint Z&/¥o]l 23t SFA2
HALO|EOIN EelSHIAIR

® o

Qty Needed Description Stock No. Description Stock No. Description Stock No.
1 Continuous Angle Ad;. Plate #85-650 Basic Angle Bracket #85-664
2 Angle Bracket #35-664 Mé Angle Bracket #85-665 Cage System Adapter #86-846
2 Standard Cage Plates %2-20 Angle Bracket #85-666

Integration Tip: In—line illumination& $75l2{H 25mm Standard Cage Plateoll (#85-632 ©Ei= #85-633)
Cage Sphere (#85-624) Y Beamsplitter AdaperE (#85-688) AF2&ILICE,



Edmund Optics Inc.

USA |

Asia | Europe

TECHSPEC® CAG

Filters 2 LensesE &8t 1X3 Mounts
ZHSE Optic MountsE 0|23l Laser Diodes OF2E 7ts
Basic Fixed Cage Plates2| LIS =1 Qtofl €A 1™ 7ts

Image Description Outer Diameter (mm) Inner Diameter (mm) Clear Aperture (mm) Stock No.
o Fine Screw Kinematic Mounting Plate 50 30 30 #85-663
. 25mm Tip/Tilt Solid Table 25 - - #86-026
a 25.4mm Kinematic Mount 30 254 127 #85-695
Ry 45° Tip/Tit Mount for 25mm it 25 - 10 #85-696

_a Square Tip/Tilt Optic Mount 25 - - #85-710
25.4mm Dia. Adapter for #85710 29x 325 254 254 #85-713
iﬁ XY Micro Positioning Stage Plate 25 RMS Thread 7 #85-722

TECHSPEC®| CAGE SYSTEM LINEAR TRANSLATION ASSEMBLIES

Translation Assemblies7} LHZEFEl ZHIME C|X}2l
%" E= 1" Travel2 24 7ts
%" Shank AM2 Micrometers AHE 7Fs

www.edmundoptics.co.kr /cage-translation Zt=

Description Features Stock No.
Micrometer Holder (x1)
Required Micrometer Mount Kit Profective Steel Plate (x1) #85-618
Compression Springs 2pk, #86-838 (x1)
25mm Standard Cage Plate, M6 #85-632
Two Required* 30mm Standard Cage Plate, M6 One plate is used for travel #85-630
4 25mm Standard Cage Plate, /4-20 and the second is fixed #85-633
30mm Standard Cage Plate, /-20 #85-631
One Required Micrometer or Actuator with 35" Shank Choose based on type, travel, and graduation See Table Below
One Optional Shaft Collar (2pk) Can be used instead of a fixed plate #86-845
One Optional Compression Springs (2pk) Used to extend travel range fo 1” #86-838
Description Features Stock No. Type Travel Graduation Stock No.
Micrometer Mount Kit, #85-618 (x1) Micrometer Drive 0.5" 0.001" #58-660
Ball Bearing Travel Bearing Plate, #85-620 (x1) Fine Screw Drive 05" 3 #58.667
Required Translation Fixed Bearing Plate, #85-619, (x1) #86-847 N R
Assembly Kit Linear Bearing Bushings 2pk, #85-686 (x1) Micrometer Drive 13mm 0.0Tmm #58-661
Rods 3mm Dia x 50mm L, #85-470 (x2) Differential Drive 0.75" - #58-670
One Required Microm heiser"o gl:l mlj(ator Choose based on type, travel, and graduation See Table at Right RIS U LIS et
- with % S‘“‘, Micrometer Drive 1" 0.001" #58-662
One Optional ampression prings Used to extend travel range fo 1" #86-838 Micrometer Drive 25mm 0.01mm #58-663

(2pk)



Edmund Optics Inc.

USA |

Asia | Europe

TECHSPEC® CAGE SYSTEM COMPONEN

7|2%x9Q1 Optomechanical System A7|of| 2ot T4 BE &
AE U Z2EEtlol Mt
12.5mm % 25mm &st 2E8 0IRE M =&t

oo

CONTENTS OF COMPONENTS KIT

22 Plates for Cage Construction

22 Support Rods with lengths ranging from 50mm to 300mm

12 Optical Components Mounts

15 Accessories Indudin Slpheres, Corner Connectors, and Adapters
Assembly Screws and Tools

Description Stock No.
Basic Components Kit #37-314
b oS Stock No. b Description Usage Stock No.  Quantity
25mm Standard Cage Cage Construction Plate #8563 8 . )
Mounting Plate with M6 fapped hole Insertion Plate Allows uddlhor]s 10 0 cage system without 485643 1
30mm Standard Cage Cage Consiruction Plate 485630 8 the need for disassembling the rods
Mounting Plate with M6 fapped hole Filter Holder Plate Easily swap filters within a cage system #86-018 1
30mm Square Provides larger rod spacing
Interface Plate than standard plate il 2 ::I.'I"e"lll.lm]geuble Easily swap filters within a cage system #85-649 2
30mm Andle Plate Used fo introduce 30°, 60°, or 90° 485620 9 L Lo
9 bends in the optical path 12.5mm Dia. Lens Mount #85-549 2
Cage Sphere w/ 30mm Ports Cube for intersecting q
(x5), 43mm Port (x1) optical paths L ! }Iﬁ;{("[:'n':"‘xwm #85-547 2
30mm Port Cover Cover for unused cube ports #85-627 1 25/25.4mm Dia, Lens mounts designed to B ;
Plate Corner Connector Used IDETEES plates 485664 8 Lens Mount fit into cage plates #85.587
at 90° angles 25/25.4mm Dia. #85-588 2
6mm Dia. x 50mm Rod #85-486 2 ;I;'::(n:':':; Nl‘:“m
Optic Mount e
6mm Dia. x 100mm Rod #85-488 4 25/25.4mm Cube Cube beamsplitter mount fits 485-688 :
] Polished 440 stainless steel rods Beamsplitter Mount within 25mm cage plates
6mm Dia. x 120mm Rod for bsic cage consrucion #85-489 b Blank Disk Blo_(k beam path or o customize 485539 :
Dia. x 150mm Rod #85-490 6 uIISImplfe . fi
6mm Dia. x 150mm Ro - C-Mount Adapter I(\ lows for easy interface fo #85.719 4
-mount components
6mm Dia. x 300mm Rod #85-492 4 Cage System Adapts 30mm rod spacing of other cage #86-846 9
Adapter Plate systems to the TECHSPEC® Optical Cage System
M3 x 0.5 x 2.5mm SHSS Used to lock 6mm rods in place - 100 Allen Key for M3 SHSS Tools for cage assembly #55.459 1
Used to secure optic
M3 x 0.5 x 6mm SHSS mounts and accessories - 50 Allen Key for M3 SHCS Tools for cage assembly #57-445 1
M3 Used fo assemble . . ) .
x 0.5 x 10mm SHCS - 50 Optical Component Cabinet  Storage cabinet for the cage system components kit~ #59-815 1

ACHROMATIC LENS KITS “

Size:
# of Lenses:

cage components

12.5mm Dia.
13

25mm Dia.

17

30, 35, 40, 45, 50, 60, 75,

SIMPLE LENS KITS

Size:
# of Lenses:

12mm Dia.
14

PCX: 12, 24, 36, 48, 60

25mm Dia.
24

PCX: 25, 50, 75, 100, 125, 150, 175, 200, 400

Incuded Focal Lengths (mm): 14, 20,25, 30,35, 40,45, "0 Soc' 150 775 Incuded Focal Lengths ey 1 24, 36,45, 72 DCX: 25, 5, 75, 100 125,150, 175, 200, 400

50, 60,75, 80, 90, 100 200, 225, 250, 300, 400 (mm): PCV:-12, -24, -48;DCV: 12 PCV:-25, -50, -100 DCV: -25, -50, -100
MgF: Coating #54-673 #52-306 MgF: Coating #55-249 #52-305
VIS 0° Coating #48-540 #8.615 VIS 0° Coating #48-163 #8-613
VIS-NIR Coating #65-984 #65-985 VIS-NIR Coating #48.539 #8614

= WWW.EDMUNDOPTICS.CO.KR/CAGE-KITSOl|M &lQI5I2IAI2!

S HIZ A|AHS IS Q=T




Edmund Optics Inc. USA | Asia | Europe

FAe] 7+ 27| Q= HE2|A0|ES et

TAE 2A XIEAM.

-
[=)
N
@
il
i
10
>
r
=l
o
ol

TECHSPEC® CAGE SYSTEM FEATURES

s Y U= EETE

o =2 FUzof HEet 7AIH ergdE A U
o T MA H HYUESR iR MEE

o T BE 25

* EfES UHA of gt

* MIBEIX| 4= ABAL Yoot 88

S|
o o
* L7 U JCOHSEs| Bt CiXEe!

® CIAS BEAM PATHS X|&

GET STARTED TODAY WITH A
COMPONENTS KIT

www.edmundoptics.co.kr/cage-kits




